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Attempt all questions.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of only simple calculator is permitted in Mathematics.

English version is authentic.

Answer any seven out of ten.

Write the advantages of mixing.
Where does carding action take place?
Define the term “Trash” and “cleaning efficiency”.
List the name of cotton contamination.
State the function of Autoleveller.
What is grinding action?

List the quality parameters of card.
List the methods of mixing.

State the function of Back plate.

State the objects of Carding.

Explain the working of Air stream cleaner with neat sketch.
OR

Write short note on multi mixer machine.

Explain card settings and their effects.
OR

Explain in brief the sequences of modern blow room line.

Describe any one stripping method.
OR
Explain any one types of Autoleveler.
Explain device for cotton contamination clearer.
OR
Explain the working of Axi flow cleaner with neat sketch.

Explain the working of ERM cleaner with neat sketch.
OR

Draw the passage of material through carding machine and list the parts name.

Calculate the production of carding machine in kgs per shift of 8 hours from
the following data.

Doffer dia = 28 inch, Doffer speed =40 rpm, Efficiency = 85 %,

Hank of sliver = 0.112

Write short note on krischner beater.
List the two cause of neps formation.
Explain in brief the integrated grinding system.

Write the any three limitation of chute feeding system.
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